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General Instructions :
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(it)
(ii1)

(iv)

(v)

(vi)

(vii)

(viii)

31/2/2

The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 7 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 8 to 19 in Section A are three-marks questions. These
are to be answered in about 50 words each.

Question numbers 20 to 24 in Section A are five-marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 42 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.
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"I A
SECTION A

1. o4 aw@l P, Q 3R R, feh AT Tk A 11, 17 3R 19 8, # & HHA

Tl I U Turgy Yefdid it S R ? 1

Out of the three elements P, Q and R having atomic numbers 11, 17 and
19 respectively which two elements will show similar properties and

why ?
2. 3 g8 Ah 3 fifedi a6 I & qa a1¢ IR g 48 we & T8 o,
R 45 et 97 3799 i | | H+ 2 1

Why do mice whose tails were surgically removed just after birth for
generations, continue to produce mice with tails ?

3. T G % GA B % &1 HRUN I e ST | 1
List two causes of pollution of river Ganga.
4.  gEued Hl TR TARaT | 38k Th 3gTET T | 2

Define multiple fission. Give its one example.

5. fodl mMefim adu gro 3cuw e sA@da -1 2 | 39 9H 1 favdwu o
(i) I % YRR AAT (ii) U0 & g &% g fora 6 feafa =1 3g@ Fifs |
I IR I P o foru fomror eam@ wifem | 2

The linear magnification produced by a spherical mirror is —1. Analysing
this value state the (i) type of mirror and (ii) position of the object with
respect to the pole of the mirror. Draw ray diagram to justify your
answer.

6.  WH ofife e s Frpe % Frel o § e s B v 3 S 8
S SuEfed B @1 R | AT UTH USE % & % Fariei i I8 g w %
o7 fop 39 TR & =ie] STURTEl 1 MUl e qafawy & foiw gifaet &, o1
T HAT ? 2
Suppose you find a heap of domestic waste, in a nearby park, which is
decomposing. What would you do to make the people of the surrounding

area realise that such type of disposal of domestic waste is harmful to the
environment ?

31/2/2 3 P.T.O.



10.

31/2/2

ST Sl WA o €9 H TeAd T o IR ATHl i F ST |

List four advantages of water stored in the ground.

IE T o AT 39-37 THRH THRN bl feflgu for o= gian & 5«

(1) HIF ol el I IYfeATd | SeTr S & ?

(i)  TAATA i TG TR A o 1Y 443 K T T forarm ram g 2

(iii) UIHTSA, UIHTEh 3T o @ fopd) atred Ies <l Sufearfa # arfirfshan

AT B ?
Write the respective chemical equations to show what happens when
(1) methane is burned in presence of oxygen ?
(ii)  ethanol is heated with concentrated sulphuric acid at 443 K ?

(iii)  ethanol reacts with ethanoic acid in the presence of an acid acting
as a catalyst ?

IE AT i o fou g gt fafay 6 = g 8 59 wdbaid &)
A qiefIm e oo & Ty T R S 8 2 dHia % @ Hifdes
TUEHT qT §1 ST BT 3@ HIT |

Write the chemical equation to explain what happens when ethanol is

heated with alkaline solution of potassium permanganate. Mention two
physical properties and two uses of ethanol.

3Nyl ad TRON § T Td ofaal i T faRaw | awi () 99 9E
TAT (ii) THH TEd H fiehd i I AUGUS fARIT | T TRt H 319 I
1 ST T GhT HINT |

Write the number of groups and periods in the modern periodic table.
Mention the criteria of placing elements in the (i) same group and (ii) the

same period. Illustrate your answer with an example for each case.
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11.

31/2/2

fafafea aroft 1 teEm fifve 598 3: 9@t A, B, C, D, E 3R F i

feufeat snyfies srad arofl § ewic sEr & € § -

REH
-1 3-12 | 13 |14| 15| 16 | 17 | 18
amad 4
2 B C
3 D E F

I9Yh ANUf o MR W Fferfgd sl & I G

@)
(ii)
(iii)
(iv)
(v)

and F are shown as they are in the modern periodic table :

3T I 1 M fARau ST hael HgEAISeh Jlfeh SHT@T |

HIF-AT < U1g & [Heh! HTSihdT T & ?

HH-TT qd 2347 B TEh TSRt & B ?
D 3R E T ¥ fopm qam) <t Brsen €t B i =i 2

B 3t D % Hare & 4 Afies 1 g faflae |

Study the following table in which positions of six elements A, B, C, D, E

Group
- |1 3-12 | 13 |14 | 15 | 16 | 17 | 18
Period {
2 B C
3 D E F

On the basis of the above table, answer the following questions :

(1)
(i1)
(iii)
(iv)
(v)

Name the element which will form only covalent compounds.

Which element is a metal with valency one ?

Which element is a non-metal with valency two ?

Out of D and E, which has a bigger atomic radius and why ?

Write the formula of the compound formed when B combines

with D.

P.T.O.



12.

13.

14.

15.

16.

31/2/2

foreht Tft whiefie o 3gwa & fou IaterRl €9 Tg@ *rent i TR R T
% 91 T g9 § ol Hifu |

List three main factors responsible for the rise of a new species giving a
brief description about each.

Had Tk geqn fauatel (fospedl) weaor W fo=R ohtd gU HeX o Wl % |1y
AU hT ATAIRAT BT HSA GRI FohaT TR TN THATET |

Explain Mendel’s experiment with peas on inheritance of characters,
considering only one visible contrasting character.

HegEavs fFafienl & Aifeq a1 W gma: 97 foen g ?, “agf veegd

o (31 B9 O qd TS A1 Aeehl) I UgEH T bl AT | vE e ffvg 2

3TN Ig U auy 7 17

(a) vEa-gd yu fom fuior | ot Sfderg @ o @ i h e
LT |

(b) G  Fefataa & favg 9 fufaa @ & fou o= = = ged 8 2

(i) SFHTYY WICT YOT el < gt
(i) Bl YRER YA & AMCUS

On the notice board of ultrasound clinics it is generally stated. “Here
prenatal sex determination and disclosure of sex (boy or girl before birth)
of foetus is not done. It is prohibited and punishable under law.”

(a) List two advantages of imposing ban on prenatal sex
determination.

(b)  What can students do to educate the society about the following ?
(1) The ill-effects of indiscriminate female foeticide

(i1))  Adopting small family norms

Torelt Ivafert Isq & 3 @ AT o AW foifgu foAH SH-ahIRTehTd Bl & |
39 59 ok HIGT AT hi JTafedfd 3R %Rl &1 3g@ i |

Name the two reproductive parts of a bisexual flower which contain the
germ cells. State the location and function of its female reproductive part.

13 Th B 15 cm BIHE gl % Gdc gUU1 Hl1 YANT Hieh [ AHe hl
ST 1 |G Tfdforsl STH AT <81 @ | gUU § HiHsd] oAl Sara i gl W
IRER T BT TMMET ? 38k g1 S&0T foRy ST aTet Widfers i Sehfd o7 |ms
HT 3IgWE HINY | 39 TR § fdafers a1 goi9 & fow & fomor sma
difer |




A student wants to obtain an erect image of a candle flame using a
concave mirror of focal length 15 cm. What should be the range of
distance of the candle flame from the mirror ? State the nature and size
of the image he is likely to observe. Draw a ray diagram to show the
image formation in this case.

17. forell el o8 @ 40 em g0 W ey Amarht 6 Sarer 1 gldfors o@ o gadd
HT G W 40 e G R ST 2 | 0 H o TR I T8 R FHhT Biehd
T #1 3@ ST | A Amerl H ST H " H AL 25 cm Re@wEn
ST, @ S+ arel Sfafoes i Yepfd F&1 g ? 319 I hl gE fRwmr sma
iaent T | 3
The image of a candle flame placed at a distance of 40 cm from a
spherical lens is formed on a screen placed on the other side of the lens at
a distance of 40 cm from the lens. Identify the type of lens and write its
focal length. What will be the nature of the image formed if the candle

flame is shifted 25 cm towards the lens ? Draw a ray diagram to justify
your answer.

18. TFH F1 BT 3 ? ol hid o TISH GRI Tad Yehmel o {9 St i 9o
T o TIEIA €9 31 AFEl bl AN [ohd TR T Hehd @ ? 3H NG
Hiaeht gsy | 3
What is a spectrum ? How can we recombine the components of white

light after a glass prism has separated them ? Illustrate it by drawing a
diagram.

19. ITER @l ¥ R e 7 ? “OMER J@an § 9 Tl i T wifha g
2 1”7 38 %y i gfy & forw swrw ifs | 3

What is meant by food chain ? “The number of trophic levels in a food
chain is limited.” Give reason to justify this statement.

20. TRUfEg &9 H cififeh S 3R Tcifireh S shl Tofe™i o = g1 3=l shl =it
SR | B3ST H 3TAfeh S ol Ufshan 1 W fafgu iR sHehl s
ATHTTehd TG <h! HERAT ¥ <hifT | 5

List in tabular form the two differences between asexual and sexual
mode of reproduction. Name and explain with the help of labelled
diagram the process by which Hydra reproduces asexually.

21. (a) WME R % 3G FHM H1 AW fIRIT ST IEHIV[ST T IcqTGH a6 FIHAL
T FE0T oft KT B | Eifad BHMAT & i fdARay |
(b) UM HIET S 9 & 3H-3 9T 1 AW faiRgu &t A (1) e qen
(i) o 312 =1 STCww BT 8 | YO I HIAT Sk IR % ofiax diwr
forg TehR UTH BT B ? FHEST | 5

31/2/2 7 P.T.O.




22.

23.

24.

31/2/2

(a) Name the human male reproductive organ that produces sperms
and also secretes hormones. Write the functions of the hormone
secreted.

(b) Name the parts of the human female reproductive system where
(i) fertilization and (ii) implantation occur respectively. Explain
how the embryo gets nutrition inside the mother’s body.

foret <ig sl &maT | 1 A9 8 ? 39 S.I WIS I AT IR IHeh! THAT
liiicill

T B +50 cm B8 g T 8 ITAN AT @ T G B —50 cm Bl
g 1 8 ITANT BT 8 | T oiF hl hld [IRaw 3R IHeh! &wal A1
HINTT | 3 g 1§ Torm @@ g foreft T o wifafers wiqa & smvmedt, &fen
3R WTES | Bier Fm =g fore o % we e oft foora @ 2

What is meant by power of a lens ? Name and define its S.I. unit.

One student uses a lens of focal length +50 cm and another of —50 cm.
State the nature and find the power of each lens. Which of the two lenses
will always give a virtual, erect and diminished image irrespective of the
position of the object ?

feheg® QY 91 8 ? 39 QY o 3¢9 B oh G HRUN hl AT IARY | F I
ST Hieh $H QY 1 AN fohe TR TR ST Teha1 B ? (i) QISIYH 4 o
(ii) Fenferg 99 g Ufafere 9941 g9nie o fou fomor emg Eifem |

What is myopia ? List two causes for the development of this defect. How

can this defect be corrected using a lens ? Draw ray diagrams to show the
image formation in case of (i) defective eye and (ii) corrected eye.

BISSIhTe 1 Bld 8 ? Ueehd o1 UoehM  fa¥ed ST aur 390 & yds
Ueehsd | Uh-Teh g0l ooht Wt fawied hifse | fau e serewwr & g iffen
I TTET T JIRE@ Wit 3794 IA I IfE HINT |

What are hydrocarbons ? Distinguish alkanes from alkenes and each of

them from alkynes, giving one example of each. Draw the structure of
each compound cited as example to justify your answer.

8



qd
SECTION B

25. Topell B 4 3061 O R 96 W I h1 A DIl Tidiens I T o 7 |
o8 1 BIRH G 1T L o [T I8 FAT AT =10 2 1

(A)  <® % QM B T Fshal

(B) ¥ &I gR®

(C) <9 & 9EHgh

(D) < o QM BT ol Ishal Brsa

A student has obtained a highly diminished image of the Sun on a screen

using a convex lens. In order to determine the focal length of the lens,
what should he measure ?

(A)  Curvature of two surfaces of the lens
(B)  Aperture of the lens
(C)  Distance of the screen from the lens
(D)  Radius of curvature of two surfaces of the lens
26. Torell B 7 e fo 4 QT SIER 04 S’ W Th Well-Hifd TEH qLe e =l
gffers OTH & o foT IRE X7 1 3T R | IRe X 6 fowa ® &t e

ﬂﬁ'Q : 1

10 cm

A)  Fith X I ¥ @ TEehl BIhd gl 10cm # |
(B) IR X I« gUul & Faehl ®id gt 10 cm B |
(©)  Fh X 1aad gdur & Foeehl Hiehe gt 10 cm ® |
(D) ik X 3« guur g FIEehl ashar 391 10 ecm # |
31/2/2 9 P.T.O.




A student used a device X’ to obtain the image of a well illuminated

distant building on a screen ‘S’ as shown below in the diagram. Select the

correct statement about the device X’ :

(A)
(B)
©)
(D)

10 cm

The device X’ is a convex lens of focal length 10 cm.
The device X’ is a convex mirror of focal length 10 cm.
The device X’ is a concave mirror of focal length 10 cm.

The device X’ is a convex mirror of radius of curvature 10 cm.

27. = feu v o o ewifls 7€ uiw sfad foewon @ 9 9 @ smufaa ferml gg=fag
I YA o T=HET T I T81 L & 8 3 38 YhR g9 IR 3TN Idd

gl grn gfdfers s @i o fofu =48 vt ehd B |

2
2F 4 FI‘Z 2F,
5
/ R
(A) 233
(B) 234
(C) 235
(D) 335
31/2/2 10



Out of the five incident rays shown in the following diagram, identify the

two rays that are not obeying the laws of refraction and as such we

cannot use them for illustrating the image formation by convex lenses.

(A)
(B)
©
(D)

2 F,

2 and 3
2 and 4
2 and 5
3 and 5

. N 2IF2
| IS —

28. forelt B I & 7 12 cm ®ihE g &1 3ITa o8 “feT T 3T @ S TR
ol fore gitel & fog v widfsrs giat s e 9mes @ i
fau fear | 3@ 3@ 9 vyl dva FEaEl Stad gC HE @ 8 WA ek 3T

Terur Fi2 fou SgER Anviiag ®9 7 T |
HY T %!W@(cm) Blﬁiﬁw@(cm)

1 60 15

2 48 16

3 36 21

4 24 24

5 18 36

6 16 48
aRofl <t Site wd a9, e 3 9g fooueft 6 o6 e @ v Jeor | wfdfors
2l @l (cargder) e TE A1 T R | 37 YeA0r hY shH HEAT T | 1
B 3
Cc 4
D) 6

31/2/2

11 P.T.O.



A student was given a convex lens of focal length 12 cm by his teacher to
perform the experiment, “To find the image distance for various object
distances in case of given convex lens.” He performed the experiment
methodically observing all possible precautions and noted down his

observations in tabular form as given below.

S. No. | Object distance (cm) | Image distance (cm)
1 60 15
2 48 16
3 36 21
4 24 24
5 18 36
6 16 48

While checking, the teacher remarked that in one of the observations the
image distance has not been recorded carefully. Identify the serial

number of that observation.

A 2
B) 3
Cc 4
(D) 6

31/2/2 12



29.

30.

31/2/2

HIE BT AT HIVT o IR i 7 & foe i & w9 e o areft
ot b1 99 SRRad AT 2 | ANET 1 favcdvor ohid W I8 THEHAT @ T 98
I8 frwps fepret for foefa feptom

(A) Ted Afad fohtur o THTR Bl &

(B) @ed 3mufad fertor & wireiad Bl 8

(C) g {udfdd fohlul o THT Bl &

(D) ®ed 3MMUfdd feptor <hl s & feorell ST W g8 ST 3

A student traces the path of a ray through a glass prism for four different
values of angle of incidence. On analysing the diagrams he is likely to
conclude that the emergent ray

(A) is always parallel to the incident ray
(B) is always perpendicular to the incident ray
(C) is always parallel to the refracted ray

(D) always bends at an angle to the direction of incident ray

frfafiea fa=i § w9 & 58 ¥ 8ot o arett forelt wepmer foRtor o 991
M@l W fo=m ST | 30 @ *i ygane fed frwor 1 a8t 9o smfRed
fopam T B

A

A I
(B) 1II
(C) I
(D) IV

13 P.T.O.
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31.

31/2/2

Consider the following traces of the path of a ray of light passing through
a glass prism. Identify the diagram which shows the correct path of a ray
of light.

(A)
(B)
(®)
(D)

XA

I
II
III
IV

Hig hH AATHR TG A TR aTet Jehrr fohor w1 9y smRed e & foe
HYGT B0 % AHI AR Q1 T % wrgi & = 6l gt 1 qo8 3r=s1 faeey

ST 7 ?

(A)  (30°, 45°, 60°) 3TR 2 cm
(B)  (30°, 45°, 60°) 3R 8 cm
(C)  (25° 50°, 75°) 3R 6 cm
(D)  (25° 50° 75°) 3R 12 cm

For tracing the path of a ray of light through a rectangular glass slab, the

best choice for the values of angle of incidence and the distance between

the feet of the two pins is

(A)
(B)
(®)
(D)

(30°, 45° 60°) and 2 cm
(30°, 45° 60°) and 8 cm
(25°, 50°, 75°) and 6 cm
(25°, 50° 75°) and 12 cm
14



32. I3 B Hid i FABR g T Frept T areit fopet Jehrer fohtur w1 997 9w
Tt 99 & 9as wivn & foru mfed =@ 8 | 98 U o6l ed 3w 3R
fafira spiot bt 7mg o & gy gt gEuTEt staar 3 1 39 A o faveyo
H R FIEAT I8 8 Tob ag fmfafea fsed fepret 1
(A Zi=ZLe<Zr
B sZi=ZLe>/r
C) Zi>ZLe>Zr
D) ZLe>sLi>Lr

A student traces the path of a ray of light through a rectangular glass
slab for four different values of angle of incidence. He observes all
possible precautions while fixing the pins and also while measuring
different angles. On analysing the measurements he is likely to draw the
following conclusion :

(A ZJi=ZLe<Zr
B) Zi=ZLe>Lr
(C) Zi>ZLe>Zr
D) ZLe>sLi>ZLr

33. et o 3 Tomn (33 Foret ofiF) & g 1 Jeor A % gwETq U A fi

T =R W Sl Tg=HT

I. e

II. W

1. qAH

IV. 3d:had

RERECIERI LR 1

(A) I, II3R I
(B) II, III 3R IV
(C) I, II3fR IV
(D) LIARIV

31/2/2 15 P.T.O.



34.

31/2/2

A student observed an embryo of a red kidney bean and identified four

parts in it as

L.
II.

III.

IV.

Cotyledon
Plumule
Radicle

Tegmen

The correctly identified parts are

(A)
(B)
(&)
(D)

I, IT and III
II, IIT and IV
I, III and IV

ILII and IV

3T S 1 A fafia afesrl S8 TSR, 31eteh, 3T, Yehtehal, Hell, THIE,
B!, IMC | WO 2 | 398 ¥ o g diewdl gHT S GHIG =131 hl Tgt

fefua et 2 |

(A) TSR 3R AT
(B)  3Tq] 3R AT
(C) 3] 3R IRt
(D) Hef 3R TR

You have a jute bag full of vegetables such as carrot, ginger, potato, sweet
potato, radish, tomato, cauliflower, etc. Identify two vegetables to
represent the correct homologous structures.

(A)
(B)
(®)
(D)

carrot and potato
potato and tomato
potato and sweet potato

radish and carrot

16



35. Torelt et & BN 7 QU UF S=qeAl o IUcTed/afRfad TUAT o 19 YN
ayR W ffatgd fsed feed | 37 feoewt 1 stegmm fifSe, it =&
Fremyt o1 ==m Fifs

I. i@ & &edh qan T (FRfeRT) & YW UIedl § 0EY HIEHTS
g

II.  371e] d91 Yehiehal UTedl H H9&Y 37 § |

III. e & 9@ 3TN IWNEEl & & A<l § a9y 377 § |

IV. e & v 3R uferl & 9@ Sqati § gusird o & |

Tgt fshy 1
(A)  TI3RII

(B) II3MWIII

(C) IIIARIV

(D) IIARIV

Study the following conclusions which were drawn by the students of a
class on the basis of their observations of available/preserved specimens
of plants and animals, and select the correct conclusions :

I Thorns of citrus and tendrils of cucurbita are analogous structures
in plants.
II. Potato and sweet potato are analogous organs in plants.

III.  Wings of insects and wings of bats are analogous organs in
animals.

IV. Wings of insects and wings of birds are homologous organs in
animals.

The correct conclusions are
(A) TandII
(B) IIandIII
(C) IIandIV
(D) IIandIV
31/2/2 17 P.T.O.



36.

31/2/2

fiee § gepa i Tfshat o IR H f=faiRaa el 1 steea Hif

I g% fugem o foreft faory wm @ 3mar g |

L fog i 3 dafy FRE § et 2 2, s i TeaH wm
B ST B |

II1. Toge™ & 9o 8H ¥ 98a §hd U 31 THd o1 §ehal ¢ |

IV. <9 %% P [Ugerd & 9o & Il &, a1 98 791 B &9 I @ |
TR HeH FHT

(A) I, II3WIII

(B) II,III 3 IV

(C) I,III 3ARIV

D) LIIIRIV

Study the following statements about the process of budding in Yeast :
I. A bud arises from a particular region of a parent body.

I1. The parent cell divides into two daughter cells, here the parental
identity is lost.

III. Before detaching from the parent body, a bud may form another
bud.

IV. A bud when detaches from the parent body, grows into a new

individual.
Select the correct statements :
(A)  I,II and III
(B) II, III and IV
(C) L IIlandIV

(D) L IIandIV
18



37.

31/2/2

srflen H fg@ued o fofir =X i g+ aTell 9gd © EATSel 1 Y& HH %
gvaTq TRt B+ e i@ e | W, 39 SIR@l § =0l 61 3 T8

RN

(e (#) (o (o)
I IT III IV A\

39 RN 1 TE HH TESTT |
(A) ILILLV,IV
(B) ILV,ILLIV
(C) ILLILV,IV
(D) ILILV,IIV

After observing various slides showing different stages of binary fission

in Amoeba, a student draws the following diagrams. However, these

diagrams may not be in proper sequence.

(o)
CNCROURONC

Identify the correct sequence of the above stages.

(A)
(B)
(®)
(D)

I, 1L, I, V, IV
I, V, 11,1, IV
I, 1, 1L, V, IV

1L, 11, V, 1, IV

19
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38.

39.

31/2/2

HIs B IR WG P, Q, R ST Y% H 9T 5 mL 3THd A ral
2 | 98 WE P ¥ NaySO,, Q ¥ KoSOy, R H CaSO, 3R S T MgSO,
T AT 1 YA | Jierdl 8 | 36 Ivard o8 |l WeHieR | |ieq %1 9ig
forerm Tmm wen O fieran 2 | 31 waEalerl #i well-uifa f&em W, 97 o

TEFAAT § ST AT H SIHT bl Y807 ST 2
(A) P3IRQ

(B) QB3R

(C) R3RS

(D) P,Q3MS

A student takes about 5 mL distilled water in four test tubes marked P,
Q, R and S. He dissolves in each test tube an equal amount of NagSOy in

P, K9oSO4 in Q, CaSO4 in R and MgSOy4 in S. After that he adds equal

amount of concentrated soap solution in each test tube. On shaking these
test tubes well, he would observe a good amount of lather (foam) in the
test tubes marked

(A) PandQ
(B) QandR
(C) RandS

D) P,QandS

His B fohelt Ioh TEAell T AfSIH gESISH HrEiHe o TIPSt il S AT
TR I8 W 4 — 5 ¢ TIATgHh T h! STl & | I8 T J&0 Ll g ? (Fal
fashen i)

(A) g 7Y hT Th TR T FHehad! g

(B) TTEH 3 gdH 19 & Joteat Fehetd 8

(C) el Segeree s a1y U gt feperar 8

(D) TEH 9 FAoddt 8 1 Jod! B9 7@ 9 | 99 < o a9 Siadi
K

A student takes a small quantity of sodium hydrogen carbonate powder
in a dry test tube and pours 4 — 5 drops of ethanoic acid over it. What will
he observe ? (Select the right option)

(A)  Evolution of a colourless gas with pungent smell
(B)  Bubbles of a colourless and odourless gas
(C)  Evolution of brown fumes along with a brisk effervescence

(D)  Evolution of a colourless gas which burns with a pop sound when a
burning splinter is brought near it
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IR BEN P, Q, RN S 7 TAATgh 01 o TUIEHT hl TEIIAT hich 394 Y&l

&1 frafafea amreft # Jre forar
e S fgrofiran
o5 | foer | wzom: | ke | e
St St fosofm | fsmfa
P v X X v
Q X v X v
R X v v X
S v X Vv X
T4 9 Tohe BT % e TohY T Jero |8 @ 2
A) P
B) Q
(C© R
M) S

Four students P, Q, R and S studied the properties of ethanoic acid and

reported their observations in the following table :

Odour Miscibility with water
Student | Like Like Fully Partially
Vinegar | rotten egg | miscible | miscible
P v X X v
Q x J x J
R X v v X
S v X v x

The correctly reported observations are of

(A)
(B)
()
(D)

P

Q
R
S
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41, 9 319 foret sfiem, an oo B, ° Aifean wsgieEss $1 209% oA o
T 8, a9 fIa 99T ST 319 = Y1 A1 hd @ 2 e few T veqent A @

TE Y&TuT BT :

I  Gifead grsgiadmse feshrsti/aufesi & €9 1 7 |

II. 98 S H 3o o S g |

III. o H Gifedy gegieass Mam % qia 9ard e 81 st ol aTe d
Fd 2 dl 98 g4 381 Ydid Bial @ |

IV. 4 g9 39 fooed # ara fofors 9 gaid §, @ 98 el g S g |

(A) I, II3WIII

B) IL I3V

(C) I IV3RI

D) L[ II3WIV

When you prepare 20% sodium hydroxide solution in a beaker containing

water, then while preparing the solution you record certain observations.

Select from the following the observations which are correct :

L
II.

III.

IV.
(A)
(B)
(©)
(D)

31/2/2

Sodium hydroxide is in the form of pellets/flakes.
It dissolves in water readily.

The beaker appears cold when touched from outside immediately
after adding sodium hydroxide to water.

When red litmus paper is dipped into the solution, it turns blue.
I, IT and III

IT, IIT and IV

III, IV and I

I, IT and IV
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A SFId 9 B0 UT: ST dal IR HITSTH Begiadss o Affshar s
T oSt W H HIYRO 99 (At § | HIYUROT THe (e o1 3239 1 B 2

(&t ferspew )

(A)  HTEH Wl IR T

(B) ®T9A 1 G Yo i HH HEAT

(C)  HTgA sl THTS H i AT H ghg HET
(D) 1A o FAFHIV H ERIAT AT

While preparing soap we generally add a small amount of common salt to

the reaction mixture of vegetable oil and sodium hydroxide. The purpose

of adding common salt is to (select the right option)

(A)
(B)
©)
(D)

make the soap neutral
reduce the basic nature of the soap
enhance the cleansing power of the soap

favour the precipitation of soap
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